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DO x+4=44+x-9 @ 4x+9 = 4x
® 10x+4=4x-9 @ 10x+4=404+x-9

® 10x+4=40+x+9
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@ 2700 — x = 4000 — x

@® 2700 — x = 2 x 2000

2(2000 — x)

@ 2700 — x

® 2700 — x = 2000 — x

® 2700 — 2x = 2000 — 2x
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ol® Abgo] 200km o] A2E AHe AR 7H=t] A4 60km 2 G|t
7} S3oll A5 50km 2 @A 3AI7F 30E0] AFt Al% 60km =
gd AgE?

® 80km @ 100km ® 110km

@ 120km ® 150km
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7. 20% 9 AFE 100 g I x% 2] AFE 200 g = A oA 16% © &7
2 W @ o, x & Fotelth

® 10% @ 12% ® 14% @ 16% ® 18%



8.  AFelo o= AFolHet 31 Al7E B B, 17 dF e F
Arge] ol 9] go] 101 Al7F ETh. @) Aol o] Yol

Q14A @154 O16A @174 O 18 A



AA ) 2 ks AL ko] 349k 44] Aelo A A Ho] i
A&7



10.

o
S
L E BP0l ahFell 600 ¥4, 77

LolAE w2 v

ohol 400 94 AGE

91717

©
w
]
ne,
o



